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(normal distribution) o> 0
p € (—00,00)

() = ¢21_7m exp( ("”2_05)2> for € (—00, 00)

(Gaussian distribution)
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//fxydydgj_//f (r,0), h(r,0))|J|dOdr

oz oz

or 96
J =

Jdy Oy

or 06

(Jacobian matrix)

(
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/ / o (@7 +y )da?dy

)—6_($+y) X =Y = |-00,]
g(r,0) =rcos6, h(r,0) =rsin6

cos@ —rsind

R =1[0,00], © = [0,27], J = ( Y ) J| = r

27 o0
[ [ sy noniidsar = [ [ v aras
R JO 0 0
27 o0 ,
:/ d9/ re” " dr
27
:/ d@/ _T dr
e —
r |5,
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/_OO e~ dy = e
[~ ﬂ [~ eranl{ [T eas)
e { e
_ \//O; /Z e~ (@5 dpdy
=V
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f(x 21770 exp ( (x2—05)2> for z € (—o0, )
/ f(x)dxr =1

_ T
V20
T = V20dr
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E(X)=pu, V(X)=0" X
Y =aX +50b
E(Y)=apn+b, V(Y)=a’c"
X N(p,0%) Y

(
Y ~ N(ap+b,a*0”)
Z=(X—p)fo
Z ~ N(0,1)
N(0,1) (standard normal distribution)
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